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2023학년도 편입학 영어시험 문제지   

수험번호 성  명 지원학부(과)

I. Choose the one that has the closest meaning to the 

underlined part. (1-8)  2.1점

1. The feeling of impending disaster haunted him all the time.
 ➀ brutal     ➁ approaching     ➂ unreal     ➃ agile

2. He is going to apportion this chore to her. 
 ➀ crave      ➁ adhere      ➂ consort      ➃ allocate

3. You’ll have to work very hard to compensate for the time 
you lost.
 ➀ make of                      ➁ make up for   
 ➂ make after                   ➃ make it up with

4. Young people are vulnerable to the influences of radio and 
television. 
 ➀ susceptible to                ➁ persuaded by   
 ➂ programmed to              ➃ appeased by 

5. Recent dispute has revived concerns about whether South 
Korean entertainment agencies exploit young musicians.
 ① experiment      ➁ utilize      ➂ expel      ➃ exult

6. College has turned into something that’s often 
dysfunctional and downright cruel.
 ① thoroughly                    ➁ direct
 ➂ disapprovingly                ➃ inherently

7. Many are lured to for-profit institutions that rake in 
money.
 ① directed     ➁ led     ➂ induced     ➃ forced

8. The city encroached on the countryside surrounding it. 
 ① extolled                      ➁ engendered 
 ➂ emulated                     ➃ trespassed  

II. Choose the one that is either ungrammatical or unacceptable. 

  (9-14)  2.1점

9. The grain of rye is ➀longer and ➁slender ➂than ➃that of 
wheat.

10. The French ➀seem far more interested in ➁reading 
about Africa ➂as about ➃their nearest neighbors.

11. ➀Having hit more home runs ➁than ➂any other player 
in the history of baseball, ➃Hank Aaron’s record is famous. 

12. We are human beings; our panic ①can’t ➁be permanent. 
Our minds and bodies simply ➂meant to ➃sustain it.     

13. ①For the ouster of Liz Cheney ➁from her leadership 
position in the House of Representatives, the Republican Party 
has made ➂absolutely clear that it is fully ➃committed to 
Trump. 

14. Not only ①did Republicans support ➁subverting the last 
election; they ➂are well on their way ➃to build the 
architecture to better subvert the next one.

III. Choose the one that is most appropriate for the blank.

  (15-20)  2.5점

15. She has no alternative but (          ) him.
 ➀ to see      ➁ see      ➂ going to see      ➃ seeing

16. “Where should I get my tickets?” “You (            ) your 
tickets last month. 
 ➀ should get                    ➁ had got   
 ➂ should have gotten            ➃ ought to get

17. He died at the age of 80, (                          ).
 ➀ neither with friends or money          
 ➁ friendless and no money
 ➂ without money nor friends              
 ➃ without friends or money

18. There are often questions about (              ) those 
debts are calculated.
 ① how transparently                               
 ➁ however transparent 
 ➂ how transparent
 ➃ no matter how transparent
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19. Legacy applicants were more than three times (      ) 
likely to be admitted as their non-legacy peers.
 ① as           ➁ so           ➂ more           ➃ too

20. There are more than 44 million borrowers (     ) owe 
$1.6 trillion in student loan debt.
 ① who                         ➁ whom they     
 ➂ to whom they               ➃ whoever

Ⅳ. Choose the one that best completes the sentence. 
  (21-26)  2.5점

21. A reversal is a change from one state of affairs to its 
opposite, one which conforms to (             ) or necessity.
 ➀ discovery                    ➁ probability   
 ➂ combination                 ➃ recognition

22. If an artist were to daub his canvas with the most 
beautiful colours laid on at random, he would not give the 
same pleasure as he would by drawing a (            ) 
portrait in black and white.
 ➀ possible                     ➁ painful     
 ➂ dramatic                    ➃ recognizable

23. In a well-developed paragraph, all the sentences should 
clearly relate to one another and should support the (      ). 
 ➀ fragment                    ➁ run-on sentence   
 ➂ topic sentence               ➃ compound sentence

24. Affirmative action is intended to promote the opportunities 
of defined minority groups within a society to (             ) 
that of the majority population.
 ① help them to jump into 
 ➁ give them equal access to                
 ➂ enable them to reach 
 ➃ give them better opportunity for 

25. Toddlers are asked to stroll around the nursing home 
and interact with the residents, and parents help the babies 
circulate. “(                                    ),” the 
manager said. “The babies decide when they come and for 
how long they want to stay.”
 ① The babies only have to say hello to the residents
 ➁ Getting along with the residents is enough
 ➂ We are excited to welcome babies
 ➃ Nothing is mandatory                              

26. While the pandemic played a major role in driving last 
year’s decline, the country’s population growth has been 
slowing for much of the last decade, depressed by declining 
fertility rates, a surge in “deaths of despair” and (          ).
 ① lower levels of legal immigration             
 ➁ higher levels of legal immigration  
 ➂ an increasing crime rate  
 ➃ side effect of social distancing 

Ⅴ. Read the following passages and answer the questions. 

  (27-40)  2.9점

(27-30)

27. What does (A) mean?
 ➀ obliged                      ➁ purified   
 ➂ abandoned                   ➃ discovered

28. Fill in the blank (     B     ) with the most appropriate 
expression.
 ➀ better than                  ➁ as good as   
 ➂ worse than                  ➃ as bad as

29. Fill in the blank (     C     ) with the most proper word.
 ➀ danger                      ➁ partnership   
 ➂ patronage                   ➃ collaboration

30. From the above passage we infer that                    . 
 ➀ Greene was jealous of Shakespeare
 ➁ Shakespeare had a university education
 ➂ Greene was fond of Shakespeare
 ➃ Shakespeare made fun of Greene

  

The reference to Shakespeare’s growing popularity on the 
London stage in 1592 occurs in a pamphlet written by a 
contemporary dramatist, Robert Greene. Greene was one of 
a group of authors who were known as The University 
Wits. He had been writing successful plays for the London 
theatrical companies for some time, but towards the end of 
his days he felt (A)deserted by them and died in abject 
poverty. On his death bed he wrote the pamphlet or the 
address known as Greenes Groats-worth of Wit in which he 
warned his fellow University Wits, Marlowe, Peele and 
Nashe not to trust actors, especially as among them there 
appeared then a writer, ‘an upstart Crow, beautified with 
our feathers’, who thought he was (     B     ) the best of 
them, and who in fact constituted a real (     C     ) to 
them.  
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(31-33)

31. Choose the most proper words in the blank, (     A     ) 
and (     B     ).
 ① A: fill             B: As   
 ➁ A: stay           B: While     
 ➂ A: remain        B: As     
 ➃ A: replenish      B: While    
 
32. Choose the most proper phrase in the blank, (    C    ).
 ① stagnation or decline, not overpopulation
 ➁ lower fertility rates, not higher death rate
 ➂ overpopulation, not stagnation or decline      
 ➃ higher death rate, not lower fertility rates

 For a population to (     A     ) itself in the absence of 
immigration, demographers estimate that there must be, 
on average, about 2.1 births per woman. In the United 
States, the fertility rate has been consistently below that 
level since 2007. And it’s not alone: (     B     ) some 
countries, especially in sub-Saharan Africa, are still 
growing rapidly, the global average fertility rate has been 
falling for decades, and even China’s population, the 
world’s largest, may very soon reach its peak.
  As a result, the United Nations now predicts that the 
human population will start declining by the end of the 
century. Some countries — notably Japan and South 
Korea, whose fertility rates are among the lowest in the 
world — are already shrinking.
  The trend is typically attributed to a combination of 
economic prosperity, which leads to lower infant mortality, 
and greater gender equality. “As women have gained more 
access to education and contraception, more parents are 
delaying pregnancy and fewer babies are being born,” 
three researchers reported last year. Because many of 
those babies then go on to have smaller families than 
their parents did, they added, “the drop starts to look like 
a rock thrown off a cliff.”
  It’s a stark reversal of the demographic trends of the 
1900s, during which the coincidence of high fertility rates 
and lengthening life spans caused the global population to 
nearly quadruple in size, from 1.6 billion to six billion. 
And for much of the 20th century, it was the specter of   
(    C    ), that animated dystopian visions of the future.

33. Choose a statement that may not be inferred from the 
passage above.
 ① During the 1900s, fertility rates were high and life spans 

lengthened. 
 ➁ China’s population, the world’s largest, may increase 

continually.  
 ➂ Fertility rates have decreased worldwide for decades. 
 ➃ The demographic trends of the 1900s were the opposite 

to those of 21th century.

(34-36)

34. Fill in the blank (A) with the most appropriate words.
 ➀ an honest man              ➁ a humorous man
 ➂ a moody man               ➃ a strange man

35. (B) means                        .
 ➀ although you will say        ➁ because you will say
 ➂ whatever you may say       ➃ According as you say

36. From (     C     ), we infer that Alexander the Great 
envies Diogenes’               .
 ➀ wisdom                      ➁ eccentricity   
 ➂ curiosity                     ➃ freedom

  

At Corinth, in Greece, there lived a very wise man whose 
name was Diogenes. At noon one day, Diogenes was seen 
walking through the streets with a lighted lantern, and 
looking all around as if in search of something. “Why do 
you carry a lantern when the sun is shining?” Someone 
said. “I am looking for (     A     ),” answered Diogenes. 
  When Alexander the Great went to Corinth, he greeted 
Diogenes and said, “Diogenes, I have heard a great deal 
about your wisdom. Is there anything that I can do for 
you?” “Yes,” said Diogenes. “You can stand a little on one 
side, so as not to keep the sunshine from me.” This 
answer was so different from what he expected, that the 
king was much surprised. But it did not make him angry; 
it only made him admire the strange man all the more. 
When he turned to ride back, he said to his officers, 
“(B)say what you will, (C)if I were not Alexander, I would 
like to be Diogenes.” 
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(37-38)

37. Choose the most proper phrase in the blank, (    A    ).
 ① socialize with neighbors
 ➁ connect across generations     
 ➂ to be grateful for their society
 ➃ strike up a conversation

38. Choose a statement that may not be inferred from the 
passage above.
 ① Baby workers work for free.     
 ➁ Many cities in Japan confront a pervasive phenomenon of 

decline.
 ➂ Baby workers brighten the residents of Ichoan Nursing 

Home.
 ➃ Babies and old people are mutually helpful.

 In southern Japan, one home has been recruiting an 
unusual class of workers to enliven its residents’ days. 
These are “baby workers,” as the nursing home’s head 
calls them: 32 children so far, all under 4 years old, who 
spend time with its residents, who are mostly in their 80s. 
Residents strike up conversations with the young helpers. 
The babies, accompanied by their parents or guardians, 
offer the residents hugs. The visitors’ reward? Diapers, 
baby formula, free baby photo shoots and coupons for a 
nearby cafe.
  The facility, Ichoan Nursing Home, is in Kitakyushu, a 
city of 940,000 in Fukuoka Prefecture that is aging and 
shrinking like the rest of Japan. As families have become 
smaller and older people more isolated, the nursing 
home’s baby worker program has helped people (   A   ).

(39-40)

39. Choose the most proper phrase in the blank, (    A    ).
 ① masculinity needed to be strong men
 ➁ a spirit of cooperation 
 ➂ a spirit of collaboration and harmony
 ➃ a sense of confidence and competence     

40. Choose a statement that may not be inferred from the 
passage above.
 ① Empathy is very important to live these days. 
 ➁ To look for the ideal of masculinity is still necessary.   
 ➂ More than 20% of all boys are regarded as having 

significant intellectual or physical impairments.
 ➃ Because many men stick to the out-of-date ideal of men, 

they are apt to lose confidence. 

I come away with the impression that many men are like 
what Dean Acheson said about Britain after World War II. 
They have lost an empire but not yet found a role. Many 
men have an obsolete ideal: Being a man means being the 
main breadwinner for your family. Then they can’t meet 
that ideal. Demoralization follows.
  Ambition doesn’t just happen; it has to be fired. The 
culture is still searching for a modern masculine ideal. It 
is not instilling in many boys the nurturing and emotional 
skills that are so desperately important today. A system 
that labels more than a fifth of all boys as 
developmentally disabled is not instilling in them (  A  ).


